
TITAN RANGE - JTRH OVEN DOOR SECTION 
Jade Range 

Field Service Part List 



TITAN RANGE - JTRH OVEN DOOR SECTIONTITAN RANGE - JTRH OVEN DOOR SECTIONTITAN RANGE - JTRH OVEN DOOR SECTIONTITAN RANGE - JTRH OVEN DOOR SECTION

ITEM PART # LIST

1 1322300090

2 8434900000

A BRACKET, HANDLE (JTRH/JSR) 3010400100

B SCREW, 1/4-20 x 3/4, PH FILL ZIN 3463400000

C HANDLE, DOOR  JTRH/JSR 36 1317700000

3 2100000078

4 8490300000

5 3043400000

6 3043700000

7 3416400000

8 1386300090

9 2515002

10 2515001

11 3059710000

12 3059720000

13 1334900000

14 3012900100

15 1017400000

16 3414100000

17 3429400000

18 3014400000

19 3419500000

20 3430100000

21 3426700000

22 3432800000

23 3425600000

WASHER, 1/4Ø  ZN  PLAIN  USS

SPRING, OVEN DOOR

ARM, ROCKER  JTRH/JSR/DGR)

KICK PLATE (W/LOUVERS)

BOLT, 1/4-20 x 5" \ EYE  ZN  E7

PIN, 3/8 x 2", CLEVIS ZN

PIN, 1/8 x 1 1/2, COTTER

DOOR HINGE ASSY RH

HINGE ASSY LH, W/O HOOK  (JTRH ONLY)

DESCRIPTION

DOOR, WELD ASSY TITAN W/O HANDLE

KICK PLATE  JTRH/JSR 36" MODELS

BRACKET, KICK PLATE L/H    JTRH (MAKE)

KIT, DOOR SHIM (4/PCS)

DOOR HINGE ASSY LH

12/11/2009

36" OVEN HANDLE & BRACKET KIT

LOGO, JADE

WASHER (SPACER), 1/2Ø  GOLD  AN969-816

WASHER, 1/4Ø  SPLITLOCK

BOLT, 1/4-20 x 1"  HX  ZN

BRACKET, KICK PLATE R/H   JTRH (MAKE)

HINGE ASSY RH, W/O HOOK  (JTRH ONLY)

"S" HOOK  TITAN/JSR  SP BEND

NUT, 1/4-20  HX  ZN  HV DUTY


